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BOTANY
(Honours Generic/Regular)
Answer the Questions from any one Option.
OPTION - A
" For Honours Generic/Regular
~ Paper : BOT-HG-3016/RC-3016
( Plant Physiology and Metabolism )
OPTION - B
For Honours Generic

Paper : BOT-HG-3026
( Environmental Biotechnology)

Full Marks : 60
Time : Three hours

‘The figures in the margin indicate
Jull marks for the questions.

Answer either in English or in Assamese.
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. OPTION-A |
( Plant Physiology and Metabolism)
 Paper : BOT-HG-3016/RC~3016
- Answer the following as directed :
- gt eapr) BeT a2

1. Choose the correct answer of the followmg
- (any seven) .. , - 1x7=7
e e % @mﬁ,‘t 2111% %ﬁ\fﬂt (ﬁmilm
7)) -

(i) . Which of the followmg forms of water is
" absorbed by plants ?

(@) Run away water
(b) Hygroscopic water
(c) Capillary Water
(d) All of the above : .
LR R S
(@) MR Q= AR
(b) " STS! AR AT
(¢) Iz sify
(@ SRR SR

(i)’ -What is root pressure ?

T e
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(iii)

(v)

v)

(vi)

Transpiration is a necessary
(Fill in the blank)

ATTE (R 0l ST
(T 312 qa«r )
What is meant by ‘antitranspirant’ ?

‘qFoBIwEIES” Wiw & @ e

"Who proposed Active K* transport

mechanism for opening and closing -of
stomata ?.

- (@) Steward

(b) Sayre
(c) Loyd
(d) Fujino
ITTF SCABA R [RGB T0F @A ARF

oI s off{at o9 WW?E%

(o) TBars
(b)) A
(c) T

(d) FE=

Name one instrument to measure the
rate of transpiration in plants.
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W@Wﬁaqﬁawtﬂﬁawﬁﬂﬁm (b)) PR
G T 5

(c) =

(vii) D1eback disease is caused due to | (d) e%T ore T
deliciency of ' ’ (ix) Vernalization was discovered by
5‘3 Z:l:per | @ Gamer and Allara
(c) - boron o ‘ - (b) Lysenko
(d) iron , (¢) Kurosawa
W@*“T%@Ww . | @ Miller .
() R - | | PRI RS ﬁsﬁr@'
() W - S (@) SRR SR S
() IN ' | - (b) REE
@ e | () FERI

(viiij) Mass flow theory of organic ” solute i (d) fies

translocation was proposed by
(a) Fenson

(b) Spanner o o TRETRRRUIR e
(c) Munch
(d) None of the above'

(x) What are thyllakoids ?

photosynthesis are
0o & AR TR 5o T W © oie Rk | (@) ATP and NADPH,

(a) (6 1 (b) HQO and 02
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(xi) Assimitatory powers produced during
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() 'RuDP and RuMP
(d) CgH1204 and PGAL
AR RS Testy &l wﬁmﬁ‘f

& x"
(@) ATP &% NADPH2

(b) HyO W% O,

(c) RuDP &% RuMP

(il

(d) , C6H1206 i PGAL

Respiratory quotient (RQ) is represented
by | S

(@) C/N

(b) Na/Op

() 0y/CO;

(@) COoy/0;

R SPATS (RQ) Tet
(a) C/N

(b) Np/ O,

() _0a/CO,

(@ COy/0,
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2. Write short notes on the following: (any
four) - - 2x4=8

(@)
)
(c)
(@
(e)
0

(@
(h) . o
were RIS 53 (O ot s (Rigezar s1f96Y)

(@)
()
(©

”
(e)

0

(9
()
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Osmosis

Guttation

Chloroplast

Krantz a.hatomy

Types of transpiration
Abscissic acid
Photosynthetic pigments
Day neutral plants

s

R

TR I R

FiG Tl AN
ST SR
wiefee ke
AETHETS G T
o Faeers Sfegr
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3. Write short notes on the following: (any

three) 5x3=15
(a) Components of water potential
(b) Cohesion of water and transpiration
pull theory
(c) Photorespiration
(d) Mechanism of enzyme action
(e) Auxins
() Anaerobic respiration
(g) Vernalization
() CAM
weTe WRAIARE 53 GBR &l 3 (Rt fofion)
(@) GERSTE CAMERTR
(b) IR (G W A Tw oA
(c) (G M)
(d) eI femfE
(e) S
(H SRS =
(9) PRI
(h) CAM

3 (Sem-3/CBCS) BOT HG/RC/G 8

e e SR s e

4. Answer any three of the following
questions : 10x3=30

R [zl o) e Tel I ¢

(@) What are different sources of nitrogen
for higher plants ? Describe the
biological nitrogen fixation. 2+8=10

Thasfa Bfews 03 ARGseR [ieq Teopmg [
fer e el iRgrem Ffewe e 3o =t

(b) What is translocation of organic solute ?
Describe -the mechanismm of
translocation of organic solute in plants
with the help of pressure flow model.

(59 w3 Al &2 lol e)ig ER e
Tfene o wy SRR At 39 = |

(c) - Describe differént types of factors
affecting the photosynthesis.

CAFTRCENT 2O (ATt [RfSq eipiam
PITTZ 91 541 |

(d) What is photosynthesis ? Give a
~ detailed account of cyclic and non-cyclic
electron transport in photosynthesis.

2+4+4=10
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(e)

)

3 (Sem~

(h)

3/CBCS)

AT e AR b e

| opaE TR siReE R IR Fl

Describe the chemical process of EMP
pathway. Write about net product of
EMP pathway. ' 8+2=10

EMP 9 SRS S 3 T W= EMP

e 0 Tesiw R

Give a detailed account of the Krebs
cycle. Mention its significance.

e vt e R | 2T teety Teerd |

FRA |

What is photoperiodism ? Discuss how
the plants are classified on the basis of
photoperiodism. 2+8=10

ﬁﬂfwar%ﬁrmﬁs?%’rrwa%m@

SR esRe o7 IR Sfewn el

CeTieel 1 (R ST 4 |

What is plant growth regulator ?
Discuss the physiological role ©
Gibberellins. in plants. '

o 9% e 2 S iR AR
SR TS 34 |
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OPTION-B

( Environmental Biotechno iogy )

Paper : BOT-HG-3026

1. Answer the followirig as directed : (any

seven)

1x7=7

ot ST RCIe e Tes il ¢ (R
)] L

(a)

(b)

(c)
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Which one of the following is not a
natural pollutant ?

i) - SOz

i) CO

(i) CO,

(iv) Pesticides

RHIe @0 Apfos 47Ed T2
i) SO, '

ii) CO

(i) CO,

(iv) oA

What is the full form of DDT ?

DDT 3 5~ 7w e

In which year the UNESCO launched
the ‘Man and Biosphere Programme’ ?

Contd.



FODY 2R SR industry. (Fill in the blank)
S ? [GREEE Trmiai ~al [efe =
517 BIoTE (6
(d) Minamata disease caused due to _ | | I 5 77 =)
ollution. ~ (Fill in the blank) e
%ﬁmﬁr g I AR A | (h) What is ozone ? -
&l :
| (371 312 239 1) : o' f&e -
: . (i) Which one of the following is a unit of
(e)  Write two names of bacterial M L
biofertilizers. : : |
() ppm
ted A9 f2itd aeR =t gy @csfRam A S
Telillg . Ml

(iii) decibel
() Which one of the following is a

(iv) nanometer
xenobiotic compound ?- fHe @G (oTETel a2
(i) Polychlorinated biphenyls _ () P
() Peroxyacetyl nitrate '
(iii) Chlorofluorocarbon @ ﬁ
(iv) Ultraviolet ray  Chsa
e @RTH cormiafos ome 2 LR | |
_ : | () Where is Chilika lake situated ?
(1{ ReTse 2Rz | o 5135 e 20 e
) CisafboiRe aags (k) Write the full form of WTO.
(i11) PR TN WTO I sjf a1 foyalt |
(iv) SemeR =y
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() Which one of the following is a Ramsar
site ? -

(). Kaziranga National Park
(i) Majulee River Island

w7 o (fi). Deepor Beel

(i) Brahmaputra River
- e ot 7w s 3w B C‘fnﬁ@
) e g T
) TR AR
(i) o e
| (iv) Tl
-. Write short answers - (any four) 2x4=8
% vt e ot ¢ (Racarz i)

(a) Advantages and disadvantages of
aerobic ponds.

RIS S48 Torpidiot o wsiiTel Bl

(0) What is radionuclides ? Give one

€Xample,

RAFRES R Sai oot i Bl

C .
(¢) What 4o You mean by bioconcentration ?

1 & qme
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(d) Write a note on biomining.

R TEE @b R R

(e) .Write a very short note on Brundtland
l;;::; aﬁwﬁ mm' % oY @ (i -
15 T

() Principles of Forest Conservation Act,

- 1972.
ey I S (559%) I A TR o

(g) Silent Valley Mpvemcnt.
g Torer STHEH |

(h) Xylanases
GIAICACTE

Write notes on any three of the following :
5x3=15

m@ﬁmﬁﬁﬁaﬁmmms

(@) Globaj environmental problems
Ry ARG TERR TR
(p) Upflow anaerobic sludge blanket

reactors

Sy ware o w3 Rees

™ ) ' : Contd.
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. .Ansvve'r any three of th

{c). Role of nitro
pollution

TREEEIS I A1 2SR

genous compounds in air

- (d) Trickling filter

(&) Corporaté sqcial ‘responsibility

1) S?Hent features of Kyoto Protocol, 1997 .

_'Wmﬁm(sma)aﬁmm

B 9 Constitution of Central and State

qulutidn Control Boards

" Treatmer.lt Scheme of waste water of
UeTy industry

é .follo'wing' :

(@ What ;¢ oul i
eat-~13;'§1?e¢nh9use effect ? Describe
POssible ¢ '
global wq . .

g'r'eenhouarmmg' Write briefly how

?ﬁwwmmmm“

nvironmental effects of

S¢ effect can be minimized. -

(b)

(9

(d)

o oy Ao e Ry SRR AT
RS B 5 oo, 76d AT il | R
3l | ’

What are pollﬁtantﬁ ?_P¢§:‘_?f-ﬂ?e_the' fate
of differént pollutants’ in the

" environment. . ) 2+8=10
o e SRS [feR dEFIRT frfe &
cGoii I

| 1 (1987).
‘e the Montreal Protoco :
Il-jlgjf 1(;11(1)); it differ from recommendations

. it—UNCED (1992).
of Rio-Earth nglt UN ( 8210

R el g
g o5’ (55b-a) I T |
UNCED (5553) 3 *RPNETR ©Tte 3R

R 24 wiCR T |

‘What do you mean by sustainable

development ? Describe the impact of
sustainable development on gross

_national productivity and quality of life. -

. 2+8=10
W«Wmﬁsqm?wﬁwm‘
oriE Besl R SR TTeY $ATS
A ol IR AT &L |
o Contd.
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on National
2006.

4 <o Tt

essay

h write 2%
Environme.ntal Policy,

(e) What .
' doe are xenobiotic compound
~does xenobioti nds ? H
living o Oblo.uc compound affect o
rganisms ? Gi the | < AR
measures to miti ve Suggestive . S
ioremediation X oblem ——
. - +3+5=1O

Jfs, Qooiastﬁtﬁ

(ORI A7l |
SRINGS i e e e
RIS sl @IS

Write
ad .
escriptive note
on Water

Polluti .
1 on (Preventio
781, n and Control) A

| ot

= e |
THCT - 4. 9 .
- Q%Tﬁgﬁ mmﬁfgq) W’ SobS :

( o
9) Describe brief]
riefly the

pPartici
1 .
Clpatlon f
0 .
wome .
n in

role and

400

e St o o T
. m%q@-?m| 2
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